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øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five questions : 2×5=10

Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What do you mean by free trade?

≈̃Mê ı±øÌÊ… ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(b) Define opportunity cost.

≈̧À˚±· ı…À˚˛ı˛ ¸—:± ±›/

(c) What do you understand by terms of trade?

ı±øÌÊ…˝±ı˛ ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(d) What do you mean by exchange rate?

øıøÚ˜˚˛ ˝±ı˛ ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(e) What is tariff?

ı±øÌÊ… q{® ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(f) State Stolper-Samuelson theorem.

Stolper-Samuelson -¤ı˛ Ó¬NøÈ¬ øıı‘Ó¬ fl¬Àı˛±/

(g) What is optimum tariff?

fl¬±˜… q{® fl¬±Àfl¬ ıÀ˘∑

(h) What do you mean by Quota?

“Quota” ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑
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2. Answer any four questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Explain Ricardian model of International Trade.

’±ôLÊ«±øÓ¬fl¬ ı±øÌÀÊ…ı˛ øı˛fl¬±Î¬π˚˛ ˜ÀÎ¬˘øÈ¬ ı…±‡…± fl¬Àı˛±/

(b) Indicate the situation when Quota is superior to tariff as a protective measure.

¸—ı˛é¬ÀÌı˛ ˝±øÓ¬˚˛±ı˛ ø˝¸±Àı Œ˚ ¸˜ô¶ ¬Ûøı˛ø¶öøÓ¬ÀÓ¬ Œfl¬±È¬± ’±˜±øÚ q{® ’À¬Ûé¬± ’øÒfl¬ fl¬±˚«fl¬ı˛œ ˝˚˛ Ó¬±ı˛
˝◊øºÓ¬ ±›/

(c) Explain Heckscher-Ohlin theorem of trade following Price definition.

ë±˜ ¸—:±í ’Ú≈¸ı˛Ì fl¬Àı˛ Œ˝'±ı˛-›˝ƒø˘Ú ı±øÌÊ… Ó¬NøÈ¬ ı…±‡…± fl¬Àı˛±/

(d) Explain graphically the concept of ‘Factor Intensity Reversal’.

‘Factor Intensity Reversal’-¤ı˛ Ò±ı˛Ì±øÈ¬ ø‰¬S¸˝ ı…±‡…± fl¬Àı˛±/

(e) Briefly discuss the arguments in favour of free trade.

≈̃Mê ı±øÌÀÊ…ı˛ ¬ÛÀé¬ ≈̊øMê&ø˘ ¸—Àé¬À¬Û ıÌ«Ú± fl¬Àı˛±/

(f) What do you mean by Infant Industry Argument for temporary protection?

ø˙q ø˙äÀfl¬ ¸±˜ø˚˛fl¬ ¸—ı˛é¬ÀÌı˛ ≈̊øMê&ø˘ ’±À˘±‰¬Ú± fl¬Àı˛±/

3. Answer any one question: 10×1=10

Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Define flexible exchange rate system. Analyse the merits and demerits of this system.

¬Ûøı˛ıÓ«¬Úœ˚˛ øıøÚ˜˚˛ ˝±ı˛ ı…ı¶ö±ı˛ ¸—:± ±›/ ¤˝◊ ı…ı¶ö±ı˛ ¸≈øıÒ± › ’¸≈øıÒ±&ø˘ ı…±‡…± fl¬Àı˛±/

(b) Write a short note on ‘Leontief Paradox’.

‘Leontief Paradox’ ¸•ÛÀfl«¬ ¤fl¬øÈ¬ ¸—øé¬l ’±À˘±‰¬Ú± fl¬Àı˛±/
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